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(8) BALMEM & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 694 = 306 L/m
Slv = Sv X 65.0 % = 199 L/m Sl= SIvXEHEE = 199 X 2.62 = 521 kg/m
S2v = Sv X 35.0 % = 107 L/m $2= szvxi%ﬁm_aﬁf = 107 X 2.67 = 286 kg/m
(9)MEME(s/a) s/a = Sv = (Gv+Sv) X 100 = 45.1 %
(10) BArEFn A& (Ad) Ad = C X INE = 324 X 0.8000 % = 2.59 kg/m
B2 & =X keg/mi
@ @ ® ® ® @) @ @ @ @ @ ®
324 170 | 521 | 286 402 | 602 2.59
\ o/ | em = e o/ | BMHEELL HEMOD:©@ 65.0:35. 0
Zk"lZ)(/ b Bk 52.5 /0 it = ’H‘ =S 45, 1 /0 (gﬁfﬁ/ﬁ\) *‘ﬂ"%”*ﬁ@@ 40.0:60. 0
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